£ ' ’ Power needs control

SOLID GSX Enclosure system

LG-T-B185-H P3

001341850

LG-T-B185-H P3 001341850
No. Type ETI Name Pcs.
1 |LG-T-B185-H-P3-C |Support 1
@ 2 |AW-R6 \Washer M6 DIN126 Zn 6
% 3 |AS-SH6x10 Screw M6x10 DIN912 6
4 |AN-FSH 6 Nut flange serrat DIN6923 Zn 6
5 |POP 100/185 Support 1
6 |AW-R8 Washer M8 DIN126 Zn 4
- 7 |AS-SH 8x16 Screw M8x16 DIN912 4
‘/2 \> 8 |AW-RE 10 Washer M10 DIN9021 Zn 3
g TN 9 |AS-H 10x25 Screw M10x25 DIN933 Zn 3
( ;3/;
.
Q
Q1 | o
]
& & 2 © @
8) & % ¢
{
@ 2
( )
A .
Lo
Q & :
00
P @
| ) %
\f"/
A Vi v WP-T
o
A Il gy
0 0 4
0 0 M o
o o o
@ |lo| || o o
¢ Y
@.. || ; f )
N 0 o o
o @ |||
0 o o
0 @ ||°
e 0 o @‘ 0
0 ) N o
0 o W‘ N o
0 0 o ) o
0 ) ) o
0 ) o
0 0 o
0 ) o
Y M Lo |
9 0 - o
o o o
@ || 0 o o
N o9 |||e 0
elo|lle o
o
o Tl © e
0 o o
) o
0|0 f © o
9|0 |||l L4
e . 0
0 o \%
0 o o
©. || 0 ~ L e
- 0 o o
o ) )
0 o Q o
0 )
0 o 2
) o o
o o R ;
0 )
o o ®. - ;
9 )
0 0 0 \% o
0 o o
0 o o
0 0 LR |2
0 o - o
0 ) o
o o Q 4
@ || 0 o
N 0 0 4
@ |||eo]|lo 0
- 0 o
) d% 0
0 o o
) 4
0 ) >
o g#!. 6. o e
e o L

A13.06 981029321 | ETI Elektroelement d.o.o.

%

Obrezija 5, 1411 Izlake, Slovenia

Phone: +386(0)3 56 57 570

Fax: +386(0)3 56 74 077 e-mail: eti@eti.si

www.etigroup.eu

60/64




